
PQ Hunt

1. called

2. she had

3. would have been

4. would have helped

5. If you work hard

6. was

7. I would fly

8. would reach

9. would

10. would pass

11. woke

12. will get

13. he would come

14. will succeed

15. tried

16. should visit

17. shall postpone

18. would have got

19. would have

20. should have got

21. had used

22. would

23. rains

24. must keep

25. will send

Are you intelligent
1. would you accept it

2. should win

3.should have attended

4. had had

5. would go
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1) 2222222222
CS-bn-ep≈ Ip´n-I-fpsS FÆw

= 50˛(8+20)
= 50˛28
= 22

2) 3434343434
BsI Ip´n-Iƒ = (28+7)-̨ 1

     = 34

3) 23 23 23 23 23
BsI Bfp-Iƒ = (6+18)-̨ 1

   = 23

4) 4444444444
BsI Bƒ°m¿ = (25+20)-̨ 1

    = 44

5) 2828282828
BsI Bfp-Iƒ = (12+17)-̨ 1

   = 28

6) 2020202020
BsI Bƒ°m¿ = (13+8)-̨ 1

    = 20
7) 3434343434

¢m n-ep≈ BsI Ip´n-Iƒ = (18+17)-̨ 1
        = 34

8) 31 31 31 31 31
]n∂n¬ \n∂v chn-bpsS ÿm\w

= (51-̨ 21)+1
= 30+1
= 31

9) 3232323232
]n∂n¬ \n∂p≈ ÿm\w

= (51-̨ 20) + 1
= 31+1
= 32
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10) 17 17 17 17 17
BsI Bfp-Iƒ = (10+8)-̨ 1

        = 17

11) 1313131313
BsI Bfp-Iƒ = (5+9)-̨ 1

       = 13

12) 2121212121
BsI Bfp-Iƒ = (11+11)-̨ 1

        = 22-̨ 1
        = 21

2) 25
     ca         an\n      kpa

             ¯  ¯  ¯ ¯      ¯   ¯ ¯ ¯   ¯
cabv°v   13                17             5   kpabv°v

ap≥]n¬ 12 t]¿                                    tijw 4 t]¿

        13   +   3    +    1    +   3    +   1
                 ¯               ¯           ¯             ¯

                          = 21
        = 21 + 4

                          = 25
     BsI Bƒ°m¿ = 25

3. tKmhn-µ≥tKmhn-µ≥tKmhn-µ≥tKmhn-µ≥tKmhn-µ≥
           cma≥

                                ­
         tKmhn-µ≥

                                                 ­

         IrjvW≥
­

              lcn
                                 ­

             Pb¥v
ap∂n¬ \n∂v c≠m-aXv ˛ tKm-hn-µ≥

Are you intelligent
1) 4646464646

Hcp hcn-bnse sXßp-I-fpsS FÆw
     = Ö2116
     = 46

an\n an\n°pw
kpabv°pw
CS-bn-ep-
≈-h¿

kpacabv°pw
an\n -°pw
CS-bn -ep -
≈-h¿

4) 3 3 3 3 3
     cmap             19      26

                   ¯     ¯    ¯   ¯   ¯

                          3 t]¿   _mep
                    = (19+31)-˛45
                    = 50 ˛45-˛2
                    = 3

5) 2121212121
 8    a\p

                   7    hn\p
                15 6¯

(

6) D

               E               B

              C                 D

                       A

A bpsSbpw B bpsSbpw \Sp-hn¬ D

a[pcw aebmfw ˛11
hn{Kln°pIhn{Kln°pIhn{Kln°pIhn{Kln°pIhn{Kln°pI
1. CjvSw t]mse

2. ]qhns‚ aWw

3. alØmb kn≤nbp≈h≥

4. aqjnI≥ hml\ambn´p≈h≥ Btcm Ah≥

5. Nchpw ANchpw

6. alm\mb Ejn

7. sNa∂Np≠v

8. \mev apJw

9. ]Øv AhXmcw

10.]qhv t]mep≈ ta\n

11.ssIbmIp∂ Xfn¿

12.Fensb sIm√p∂Xn\p≈ hnjw

13.hn\bsØmsS

14.B\bpsS hm¬

15.hnZy A¿∞n°p∂h≥
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1. ASnae¿

2. Xfn¿ta\n

3. Zzµz≥

4. X¬]pcpj≥

5. A©mdv

6. tXmƒhf

7. X¬]pcpj≥

8. Zzµz kamkw

9. Zzµz≥

10.ZznKp kamkw

hn\phn\v ]pdIn¬ 6 t]¿
hcnbnse BsI

  BfpIƒ = 15 + 6 = 21


